B B £ &

v E06= euswimnn STENR M SE TeL 5662-9018

XARMELRRNEH DR SHIEDEAD
] A sEans =l A ‘
20,000 18.275 SN ﬂlJrEéiE.%?\%IE{‘#&b\
18,000 120 FE S0 (CIBN0LELL.
16,000
12000 2y (810U 7= IE )
C? R3 R4
12,000 _
10000 BEEE 1,145 - L85
8,000 o
o0% wﬁ%ére’g - S 8¢ — 1O
4,000
2,000 I I l BAGH 902 —ﬂﬂ@{ﬁB
# 0 H12 H13H14H15H16H17H18 H19H20H21 H22 H23 H24 H25H26 H27 H28 H29H30 R1T R2 R3 R4
XA EESE R B ROHIE —h. BHRERWS(COVWTREAIEKRY
BALESOD. 2B DBEHL B,
3. 671,”F'3 3. 591§.Fq 3 4480 WREFWEISELTI,
' 4 &z ROM2EDADNR LI EIBE
E\HBNTTY!
2. 251§F'3
1 241%

2. 031%'F'3 “
] zgrpnuz‘
1,278,176 X 688153
#1275N) (’fﬂ 68HA\)
FRILERIIDINIFORET
RIBR215EM 15)IIK2.1780

BETATAVEYVDODDBITIIAXKYTT

[ nxonnsE0 = Lcp<imn! ] semsirmLcls [EEICHEL Comkar ey |

—EOVIHRYHRNTT
AP —OvY. BER B

e Ayt—I%RWNT
BFEEELOTH S,
HRLESELKS!

HEHBET - ﬂy@ .
(C/




FEE(CHDH S [SEIERE] byl E

Ewﬁ%%ﬂmbfaﬁr*ﬁbt%mbX7L
@—%%ﬁ%bi?!
[ﬁﬂbﬁﬁm%’r%mﬂ HEAE 1RGSR DERGERAY =EAE:2,640M/4F NTTH:1,320@/%
AN RER6ARICHLEHASEREBELTVSIES

#iBh=ES 6
HWBhE2 3

B=-8/8%

A IE#

srEan 2,640m X 6% = 15,840m
(BR1ADOERAR) (%)
(x@epzE]  2,640m X 6% x 576 = 13,000m
(BRE1ARDOERAR) (%) (##Bh=R) (FAXFEDVET)
(aeailzE] 15,840y — 13,000 = 2,840pm
(SBiEEAR) (X#EBhEE) -
( ~
MESEES
1. 275F4018~216E3A3180ERERNTHEL
2. EREBICRHINWEETICERERE (R OZIWVERTLTWSSE
(HARRZE B X TOZIAV X HHNMN) ne |
C sEsHLE b EseUAAE03-5662:9018)5 ¢ )
BB HAAS D#EEBhFRICE !
$ R E

STRNIXBA S BEnEEIR i %
7Y IR TERFLTVET

FEICERBIERPTARIFHR. KEH WHRE - PHEBLEETCRELEN
B WTIEEADHEETER B PIFIR 70 FL Lottt

B AP bA—L
i, B &

THHIR - BhK IR iR 2 ECfE!
EADIRFRLLEICAT H1FHRE.

F(EE@%éAkbﬂbﬁLiT

| FH2RTI— FESHIBEE L,

BRLEEEYTZILIALICRIELTVET,
| To2rma-FECHAEEL. |

=
Emﬂ% ﬁ -

Android A




